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B Characteristics Number (%) HR (95%Cl) P.value
Total 493 (100)
Age
<=1y 211 (42.8) Reference
1~1.5y 91 (18.5) 0.62[0.34, 1.12] 0.114
>=1.5y 191 (38.7) 0.86 [0.52, 1.42] 0.543
INSS Stage
Stage1 120 (24.3) Reference
Stage2 78 (15.8) 3.50 [1.58, 7.76] 0.002 [ <> |
Stage3 62 (12.6) 5.20 [2.38, 11.36] <0.001 <>
Stage4 181 (36.7) 5.04 [2.30, 11.04] <0.001 [ <> |
Stage4S 52 (10.5) 2.88[1.20, 6.93] 0.018 f <> |
METTLA1
Low Expression 323 (65.5) Reference
High Expression 170 (34.5) 1.58 [1.09, 2.29] 0.016 @
COG risk classification
non-High Risk 318 (64.5) Reference
High Risk 175 (35.5) 2.70[1.43, 5.10] 0.002 I—‘—!
MYCN status
without MYCN ampilification 401 (81.3) Reference
with MYCN amplification 92 (18.7) 0.89[0.57, 1.40] 0.615 i‘-l
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